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..--’A satelllte is orb1t1ng in a GEO of rad1us from the center of the earth Js- 41500 Kms.

-""'Explam Telemetry, Trackm g and command subsystem of satelllte With néat d1agrams

.-"Explam TDMA.: frame structure. /
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Answer any five questions
All questions carry equal marks

the velocity and time of the Orbit of the satellite. What will be the change in velocity it the
radius reduces to 36000Kms. if p=3.98 x 10°Km*/s°? [9+6]

i) Ascending node
ii) Synchronous orbit

Define the terms:

Ai1) Angle ofinclination.

_._..Def” ne look angles end derive the“expressmns for the\elevatlon and; azn:nuth angles. [6+9]

Derive the expressions for the system noise temperature, noise figure and G/T ratio of

an Earth station receiver.

Calculate the system noise temperature of a 4 GHz receiver having the following gains
and noise temperatures. Tin=25 K TRF—SO K, TM-500 K, Ti= IOOO K, Grr = 23 dB
Gm'o B3 and G|F——30dB T FA ; [lO"l-S]

How signal is acquired in satellites with respect to GPS? [10+5]

the calculation

Give

Distinguish the terms multiplexing and multiple Access.
procedure of C/N ratio.
What is.Inter modulatio.n._in FDMA.? L,

ind

What are the different types of demand asmgnment multlple Aecess charactenst:cs"[8+?]

Draw the transmitter block diagram of an earth station and explain its working.
A satellite at a distance of 36,000 km from earth radiates a power of 5 W from an antenna

Discuss delay and throughput considerations of satellite system.

What are the advantages of LEO satellites comparing geostationary satellites? [8+7]




